6 series

Aluminum extrusion / Accessories

www.ea-hwa.com.tw

SS110SS8IDY / UOISNJIIXT WNUIWN|\Y-S31U3S 9




'al ¥ 1
vAY
Em

oF Bk IR S

EA-HWA Enterprise Industrial Co.,Ltd

6 series-Aluminum Extrusi

Description :
Material :
Finishing :

Weight :
Spec.:
Application:

Aluminum extrusion
A6NO01S-T5

AF1530 (ED) / AF1530W
Anode / AF1530B Black
anodized (custom-made)
0.69KG/M

6M/piece

Light load structure
Structure of Door Frames

Description :
Material :
Finishing :

Weight :
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AF1560 (ED) / AF1560W
Anode / AF1560B Black
anodized (custom-made)
1.31 KG/M

6M/piece

Light load structure
Structure of Conveyor

Description :

Material :
Finishing :

Weight:
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AF1590 (ED) / AF1590W
Anode / AF1590B Black
anodized (custom-made)
2.03 KG/M

6M/piece

Light load structure
Structure of Conveyor

Description :
Material :
Finishing :

Weight:
: 6M/piece

Spec.

Application:

Aluminum extrusion
A6NO1S-T5

AF3030 (ED) / AF3030W
Anode / AF3030B Black
anodized (custom-made)
1.1KG/M

Medium load Structure

Structure of Door Frames

AFR3030

Description :
Material :
Finishing :

Weight :
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AFR3030 (ED) / AFR3030W
Anode / AFR3030B Black
anodized (custom-made)
0.86KG/M

6M/piece

Light load structure
Structure of Columns

15

wn
=L

&
n [
~
n - < n n
e Sl 3 e
25
60
15 30 ‘
ol =
n| ™ < 9
= ©° .9 —
‘ 30 25
90
15 30 ‘ 30 ‘ -
=)
Skagy % S
O |
30 30 25
30
15
80
e
Q 253 59
25 b




AF3060

Description : Aluminum extrusion
Material : A6GNO1S-T5
Finishing : AF3060 (ED) / AF3060W
Anode / AF3060B Black
anodized (custom-made)
Weight : 1.74KG/M
Spec.: 6M/piece

Application : Medium load Structure
Structure of Conveyor

AF3090

Description : Aluminum extrusion
Material : A6GNO1S-T5
Finishing : AF3090 (ED) / AF3090W
Anode / AF3090B Black
anodized (custom-made)
Weight : 2.69KG/M
Spec.: 6M/piece
Application : Medium load Structure
Structure of Conveyor

Description : Aluminum extrusion
Material : A6NO1S-T5
Finishing : AF30120 (ED) / AF30120W
Anode / AF30120B Black
anodized (custom-made)
Weight : 3.5KG/M
Spec.: 6M/piece

Application : Medium load Structure
Structure of Conveyor

AF6060

Description : Aluminum extrusion
Material : A6NO1S-T5
Finishing : AF6060 (ED) / AF6060W
Anode / AF6060B Black
anodized (custom-made)
Weight : 2.43KG/M
Spec.: 6M
Application : Heavy Load Structure

S3110SS9DDY/ / UOISNIIXT WNUIWN|Y-S3143S 9



oF Bk IR S

'al ¥ 1
vAY
Em

EA-HWA Enterprise Industrial Co.,Ltd

6 series-Aluminum Extrusi

AF6630

Description :
Material :
Finishing :

Weight:
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AF6630 (ED) / AF6630W
Anode / AF6630B Black
anodized (custom-made)
2.52 KG/M

6M

Structural Columns

AFR6630

Description :
Material :
Finishing :

Weight:
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AFR6630 (ED) / AFR6630W
Anode / AFR6630B Black
anodized (custom-made)
2.22KG/M

6M

Structural Columns

AF6090

Description :
Material :
Finishing :

Weight:
Spec.:
Application :

Aluminum extrusion
A6NO1S-T5

AF6090 (ED) / AF6090W
Anode / AF6090B Black
anodized (custom-made)
3.65KG/M

6M

Heavy Load Structure

AF9090

Description :
Material :
Finishing :

Weight:
Spec.
Application :

Aluminum extrusion
A6NO1S-T5

AF9090 (ED) / AF9090W
Anode / AF9090B Black
anodized (custom-made)
4.42KG/M

: 6M

Heavy Load Structure




Name:
Material :
Finishing :
Weight :
Spec.:
Application :

Square Nuts

SS41

Nickel-plated

2.59

M6,M5,M4

6 series pre-insertion nuts

Name:
Material :
Finishing :
Weight:
Spec.:
Application :

Half round nuts

SS41

Nickel-plated

49

M6,M5,M4

6 series half round nuts,

insertion or postposition nuts

Name:
Material :
Finishing :

Weight:
Application:

Name:
Material :
Finishing :
Weight:
Application :

Name:
Material :
Finishing :
Weight:
Application:

Blind insertion joint
ADC12

EUJ0615 Polishing / EUJO615B
Black(EDP)
39

6 series blind insertion joint

Slip mat

Rubber
Rubber(Colorless)
19

6 series slip mat

Slip mat

Rubber
Rubber(Colorless)
0.22g

6 series slip mat

9.8

—

&

i

M6 Screw
E
M6 Screw
10
| 1

12.5

L
f

@15

1

Q)

33

o>

ND6M5
ND6M4

www.ea-hwa.com.tw

S3110SS9DDY/ / UOISNJIXT WNUIWN|Y-S3143S 9



insE Bk AR DS

EA-HWA Enterprise Industrial Co.,Ltd

6 series- Accessori

Name:
Material :
Finishing :

Weight:
Application:

Door frames connector

ADC12

EB1530 Sandblasting painting /
EB1530B Black(EDP)

229

Door frames connector

Name:
Material :
Finishing :
Weight:
Application :

Chock plug

Plastic

EBTG Offwhite / EBTB Black
0.5g

Door frames connector

EIB4545

Name:
Material :
Finishing :
Weight:
Application :

Door angle bracket

SS41

Nickel-plated

259

Angle bracket for door frames

Name:
Material :
Finishing :
Weight :
Application :

Soft Strip

Rubber

EC6S White / EC6SB Black
70g/M

6 series soft rubber Strip

Name:
Material :
Finishing :
Weight:

Application

Solid Strip

Rubber

EC6 White / EC6B Black
80g/M

6 series solid rubber Strip

26.5

b —
IOU.

p_!

o

|

211
Q12—

[O]

4-M6 Screw

21

15

45

45

15

21

0.9

25

10.5

3.76




EMB306

Name : Panel mounting block
Material : PVC
Finishing : Gray
Weight: 8g
Application : 6 seriesp Panel Mounting Block

Name : End cap
Material : Nylon
Finishing : Black
Weight: 3g
Application : 6 series end cap

Name : End cap
Material : Nylon
Finishing : Black
Weight: 2g
Application : 6 series end cap

ECR0O0630

Name : End cap
Material : Nylon
Finishing : Black
Weight: 59
Application : 6 series end cap

Name : End cap
Material : Nylon
Finishing : Black
Weight: 4.5g
Application : 6 series end cap

www.ea-hwa.com.tw

S3110SS9DDY/ / UOISNIIXT WNUIWN|Y-S3143S 9



insE Bk AR DS

EA-HWA Enterprise Industrial Co.,Ltd

6 series- Accessori y

Name : End cap 40 i

Material : Nylon ‘ \
]

Finishing : Black s KE
O
Weight: 5.5g L 4y :I
Application : 6 series end cap 90
EC6060 60 s
Name : End cap i b
Material : Nylon . u
Finishing : Black B B
Weight: 6.5g
Application : 6 series end cap it = H—
50 ]
60
30 5
Name : End cap ]
Material : Nylon + =
Finishing : Black 3 a
Weight: 6.5g " =
Application : 6 series end cap N
30 -
ECR6630 50
30 5
Name : End cap
Material : Nylon [T
Finishing : Black / + S =
Weight: 59 3 H
Application : 6 series end cap + =
30 -




ELL3030

Name : Bracket
Material : ADC12
Finishing : ELL3030 Sandblasting /
ELL3030B Black(EDP)
Weight: 20g
Application : connect fittings

Name : Bracket
Material : ADC12
Finishing : ELR3030 Sandblasting /
ELR3030B Black(EDP)
Weight: 359
Application : connect fittings

]

Name : Bracket 375 |15
Material : ADC12
Finishing : ELL3060 Sandblasting / o
ELL3060B Black(EDP)
Weight: 42¢g
Application : connect fittings

60
15225 15 O
9

~
I |

Ll6

n
q

B

ELL6060 SRS

1
Y
Yl
=5
125 30 ]

Name : Bracket
Material : ADC12 T30

Finishing : ELL6060 Sandblasting / B_—c
ELL6060B Black(EDP)
Weight: 100g
Application : connect fittings

30
60

= | J |
o H ‘
B

o O
24
16

6.5

[
[

www.ea-hwa.com.tw

S3110SS9DDY/ / UOISNIIXT WNUIWN|Y-S3143S 9



insE Bk AR DS

EA-HWA Enterprise Industrial Co.,Ltd

6 series- Accesso

EAL6025M6

Name:
Material :
Finishing :

Weight:
Application :

Angle bracket
A6NO01S-T5

EAL6025M6 Anode /
EAL6025M6B Black(EDP)
529

connect fittings

EAL6055M6

Name:
Material :
Finishing :

Weight :
Application :

Angle bracket
A6NO1S-T5

EAL6055M6 Anode /
EAL6055M6B Black(EDP)
1109

connect fittings

EAL4525M6

Name:
Material :
Finishing :

Weight :
Application :

Angle bracket
A6NO1S-T5

EAL4525M6 Anode /
EAL4525M6B Black(EDP)
45¢g

connect fittings

EAL4555M6

Name:
Material :
Finishing :

Weight :
Application :

Angle bracket
A6NO01S-T5

EAL4555M6 Anode /
EAL4555M6B Black(EDP)
759

connect fittings

60

60

25

55

450

25

450

55

30 12.5




6 series- Accessories

'EAL13525M6

Name : Angle bracket
Material : A6GN0O1S-T5
Finishing : EAL13525M6 Anode /
EAL13525M6B Black(EDP) n
Weight : 50g =
Application : connect fittings

25

S9110SS8IDY / UOISNJIIXT WNUIWN|\Y-S31U3S 9

'EAL13555M6

Name : Angle bracket
Material : A6NO1S-T5
Finishing : EAL13555M6 Anode /
EAL13555M6B Black(EDP)
Weight: 859
Application : connect fittings

12,5

55
30

" EB3060 30
/—M16Screw(M12)

Name : Mounting Plate

Material : ADC12 @ 6 @ “’I B
30

Finishing : EB3060 Sandblasting painting /

KF

EB3060B Black(EDP)

60
Weight: 659 ‘__1_‘1a &
Application : For M12 & M16 leveling foot I m I
| | @65
30
E B 6 O 6 0 M16 Screw(M12) ]
R ©
Name : Mounting Plate " ©f O i
[=l[=]
Material : ADC12 @mol T
Finishing : EB6060 Sandblasting painting / @ OJ %
EB6060B Black(EDP)
Weight : 135g 30 12
Application : For M12 & M16 leveling foot 60 FiT 0
[
@6.5

www.ea-hwa.com.tw




insE Bk AR DS

EA-HWA Enterprise Industrial Co.,Ltd

6 series- Accesso

30

|-M16 Screw(M12)

%
EBR6060 ©
] 3
Name : Mounting Plate J °
Material : ADC12 @ ”
Finishing : EBR6060 Sandblasting painting / =5 12
EBR6060B Black(EDP) 60 i n
o)
Weight : 130g ———
Application : For M12 & M16 leveling foot EE[%'
M16 Screw
N RS
ame : Mounting Plate
Material : ADC12 @ @
Finishing : EB6060N Sandblasting painting / 30
EB6060NB Black(EDP) 0 I
Weight H| 359 r__‘ T T
Application : For M16 leveling foot only Q—LLML‘“
. ©7i
EBO6190 :
R
Name : Mounting Plate o1
Material : ADC12 30(R
Finishing : EB06190 Sandblasting painting / gg@g
EB06190B Black(EDP) @ -
Weight : 1600g i 80 3 30015
Application : For M16 leveling foot and 2.5" casters 190
D11~
i Tt T T s e Al iH—H%—Q: =
T @65
EBRO6190 o
Name : Mounting Plate 8
Material : ADC12 =
Finishing : EBR06190 Sandblasting painting / 04
EBR06190B Black(EDP) 2917
Weight : 16009 30| @
[=]
Application : For M16 leveling foot and 2.5" casters @ ” K
I 80 [ 30] 3015
190
B11—
Tt i T T i sl e | u H4—‘ ]N




